
Lines	
  
2 boxes of crackers and a box of cookies cost $6.60. A box of 
crackers is $1.20 less than a box of cookies. What is the cost of 
a box of cookies?  
	
  
Angles	
  
Harry	
  started	
  the	
  day	
  by	
  trading	
  5	
  of	
  his	
  comic	
  books	
  for	
  7	
  of	
  
Jenny’s.	
  Next,	
  he	
  bought	
  8	
  at	
  the	
  store.	
  Then	
  he	
  gave	
  Tom	
  9	
  
comic	
  books.	
  Harry	
  came	
  home	
  with	
  12	
  comic	
  books.	
  How	
  
many	
  comic	
  books	
  did	
  Harry	
  start	
  the	
  day	
  with?	
  
	
  
Polygons	
  	
  
Henry	
  is	
  saving	
  for	
  a	
  new	
  game	
  system.	
  During	
  the	
  first	
  
week,	
  he	
  saved	
  $4.	
  In	
  the	
  second	
  week,	
  he	
  saved	
  $8,	
  and	
  in	
  
the	
  third	
  week,	
  he	
  saved	
  $16.	
  If	
  Henry	
  continues	
  to	
  save	
  in	
  
this	
  manner,	
  how	
  much	
  will	
  he	
  have	
  saved	
  by	
  the	
  sixth	
  
week?	
  


